Data Sheet — CHEM 203
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Strong Acids: HCI, HBr, HI, HNOs, Hz50s, HCIO4
Strong Bases: Hvdroxides of Group 1A (Li to Cs) and Group 2A (Ca, 5r, Ba)

Constants: Conversion factors:
Gas constant, R = 0.08205 L atm mol™! K 17=1kgm’s? 1Pa=1kgms?
=8314 Tmol"K'=8314 L kPamol ' K TK=T°C+273.15
Avogadro's number: Na = 6.022 x 10% mol! 1L=10"m’ 1.00 Latm=10137T
Faraday: F=296485C /molelectrons latm = 760.0 torr = 101.3 kPa=760.0 mm Hg = 1.013 bar
STF conditions: 0 °C, 1 atm 1C =11/V 14 =1Cs?
Thermodvynamic standard state: 1 bar, 1M, 25 9%C
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